[bookmark: _GoBack][image: 常用公式3][image: 常用公式2][image: 常用公式1]
image1.png
AT AT - BB T (Devil_math)

Ry
HARY*:
dx . 1
Im=arcsmx+C I;dx=1n|x|+C
dx
I =arccosx +C Ilnxdx:x(]nx—l)-f—C
—1-x*

Ilfxz=arclanx+C Ikdx:kx+c (kA % %0)
x

a+l
) & arcsin¥+C [xde="—+C @=-D)
2 2 a a+1

a —x

dx 1
Iﬁ= Zarctan T +C
a+x’ a a

I%a&:l«/;+C

I Zdr 2=Lln2|+C Ie'dxze'+(‘
x'—a  2a |x+a
Ja'de=sC
Ina

Ixe'dx:(x—l)e‘ +C
Ilnxdx:x(lnx—l)+(‘

dx
I*:ln(,ht X +a*)+C
dx
I =Injx+vx*-d’
Vxr-d ’
2
I\/az —xzdngxlaz —-x +a7arcsin1+C
a

+C

2
j\/xz +atdy= %\/xz +a’ +a7ln()r+\/)tZ +a*)+C

C

2
j\/xz—azdx=§\/x2 -a —%ln|x+\ X —a* |+

j.sec3 xdx = %(secxumx+ Injsecx + tanx|) + C

J'sinxabr =—cosx+C
[cosxdx=sinx+C
J'Ianxdx= ~Infcosx|+C

[ cotxdy = Inlsinx|+C
[secxdx=Injsecx+ tanx|+C
Icscxdx =Incscx —cotx|+C

Iseczxdx:mnx+C

J‘csc2 xdx=—cotx+C
Isccx- tan xdx =secx+C

Icscx-cotxdx:—cscx+('

[sin® v ==~ Ysn2esc
2 4

J'ms2 xdx = i+lsin21c+ C
2 4




image2.png
AT AT - BB T (Devil_math)

EASHAK:
(arcsinx) = !
1-x*
, 1
(arccosx)' =—
1-x7

(arctanx) = ! 5
1+

(arccotx) =—
1+x

[Siess 6
1) BREMNS:

(zx)(n) =

(a‘)(n) =a'(Ina)’

3K

ayr a-1

R
(J?)—Z‘/;

(€)Y =0 (CHHEH)

(sinx) =cosx

(cosx) =—sinx

(tanx)' =sec’ x

(cotx) =—csc’x

(secx) =secx-tanx

(cscx)' =—cscx-cotx

(e =

(@) =a"lna

" )(u) =l

"™ =0

(sinx)® =sin(x + %-n)

(cosx)™ =cos(x + % -n)

n-1 (m) n
(lnx)(") _D ("n -1 [1] _D ln! (sinwx)® = whsinGur + 7 »
X x X" 2
o _ (D" -1 1\ _ o o 7
(In(x+b))" = by [x+b] o (coswx)™ = w" cos(wx + 5 n)
(In(ax+ by = E " =D)! [ ! ]‘"’ _ e
(ax +b)" ax+b (ax+b)"!

(2) % (Leibniz)

SRS AR:

n
)" = Z u(')v(" - = Co ™ + C lu VD 4 C, zu“)v("”) ot G LDy 4 C, "u(")v

i
" iln—i)!

—Hu FoRFEK.

G=C=1,C=C"=n, =C"=

n(n—-1)
2




image3.png
AT AT - BB T (Devil_math)

PN EERR:

. sinx
lim——=1
X0y

FMFEsh: (x>0

aresinx ~ x

arctanx ~ x

1
lim(1 4 x)° = lim(1 + )" = e = 2.718281828459045...
x50 XD x

In(1+x)~x

log, (1+x) ~ ——
Ina

(1+x)"—1~ax

sinx ~ x e —1~x

tanx ~ x a" —1~xlna

1-cosx~ lJr2
2

m71~%x sec)r71~lx2
T AT LUIAHR L

. 1,
arcsmx — x ~ —x’
6

1
x—arctanx ~ ;x

tHRER:

(1+bx)" =1~ abx

1
—In(1+x) ~ =’
I (1+ x) 2x

In(x++x>+1)~x

. 1 1
x—snn.\ng3 e —l-x~=x*

1
tanx —x~—x
3

. 1
tanx —sinx ~ —x°
2

exp(0- ) <= exp(0In0)

A AR

exp(0- ) < exp(0lnoo)





